FREVOALSEREIF4E LHRHER kSR Fiohl (RERE THEE 58.06i%)

FoRIZERE BA KK ZEREHY ZERE BREH BRE
INERIEZEE (2-3F4) 0 0 0% 0 0%
INERIBEFE (4~6FE) 0 0 0% 0 0%

R4 0 0 0% 0 0%

=& 0 0 0% 0 0%

ZD10m K 0 0 0% 0 0%

20 2 2 100.0% 0 0%

30K 0 0 0% 0 0%

40/ 5 4 80.0% 1 25.0%

50t 8 6 75.0% 0 0.0%

60 14 14 100.0% 3 21.4%

70K 3 3 100.0% 0 0%

80X 0 0 0% 0 0%

TEH 0 0 0% 0 0%

BitERLIETEY] 32 29 90.6% 4 13.8%
FERUOASEREIF4E EHHER EHEER Bdl

Bl BA KK ZEREH ZERE BEREH EEES

B 4 (FEHEL 57.35%) 20 18 90.0% 2 11.1%

7 4 (FEHERS 59.35%) 12 11 91.7% 2 18.2%

BEtERLIETEY] 32 29 90.6% 4 13.8%
DGEBEUAIERE IF40E LHEER EEiER #hishhl

Hhig Al ZERE BAR ZEREH ZERE BEREH EEES
BhAT™ 24 21 87.5% 3 14.3%
FEEMX 1 1 100.0% 0 0.0%
FHRMGE TOMDOEFEHRE 3 3 100.0% 0 0.0%
RIEt(BHEE-EHE) 0 0 0.0% 0 0.0%
RERELE ZDHD R 4 4 100.0% 1 25.0%

BitERLIETEY] 32 29 90.6% 4 13.8%

(RELITELLSY)




FREVOLSSREIFA4E LHRHER XkHER BERM (BN

g Bl ZERE BAR ZEREH ZERE BREH EEES
INERIRZEE (2-3F45) 0 0 0% 0 0%
INERARFF (4~65F4) 0 0 0% 0 0%
hdg 0 0 0% 0 0%
aRE 0 0 0% 0 0%
SHHE-RHEE 11 10 90.9% 0 0%
NFE 4 3 75.0% 1 33.3%
Gilz 7= 4 4 100.0% 0 0%
HEX 1 1 100.0% 0 0%
FiRN—FHBED) 0 0 0% 1 0%
S 11 10 90.9% 1 10.0%
Z Dt (FEFIERERE) 0 0 0% 0 0%
AEA (HERIAR|T) 1 1 100.0% 1 100.0%

BEtERIEFH] 32 29 90.6% 4 13.8%
QEH/R 66.14 =
QOREHR 83 M (14)

X LERMEeRE 2%
X L#R2E B &Kz 14
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